

$$C = 4 - 9$$

$$C = -5$$

$$\frac{x^2 + 1}{(x-3)(x-2)^2} = \frac{10}{x-3} - \frac{9}{x-2} - \frac{5}{(x-2)^2}$$

$$\int \frac{10}{x-3} dx - \int \frac{9}{x-2} dx - \int \frac{5}{(x-2)^2} dx$$

$$= 10 \ln|x-3| - 9 \ln|x-2| + \frac{5}{x-2} + C$$

$$10 \ln|x-3| - 9 \ln|x-2| + \frac{5}{x-2} + C$$

$$10 \ln|x-3| = 10$$

$$\ln|x-2| = -9$$

$$\ln \frac{5}{x-2} = C$$

$$4. \frac{x^3 + x^2 + x + 1}{x-1} dx$$

$$\frac{x^3}{x-1} + \frac{x^2}{x-1} + \frac{x}{x-1} + \frac{1}{x-1} dx$$

$$\frac{x^3}{x-1} + \frac{x^2}{x-1} + \frac{x}{x-1} + \frac{1}{x-1}$$

$$\int \frac{x^3}{x-1} dx + \int \frac{x^2}{x-1} dx + \int \frac{x}{x-1} dx + \int \frac{1}{x-1} dx$$

$$\frac{2x^3 + 3x^2 + 6x - 11}{6} + \ln|x-1| + \frac{x^2 + x}{2} + \ln|x-1|$$

$$+ x - 1 + \ln|x-1| + \ln|x-1| + C$$

$$= \frac{2x^3 + 3x^2 + 6x - 11}{6} + 4 \ln|x-1| + C$$

1. Aufgabe Gegeben: Funktion

Bestimmen Sie

Partialbruchzerlegung

Partialbruchzerlegung

mit 100 Assistenten

1. $(3x-1)/(x-1)(x-2)(x-3) dx$

2. $(x^2+2x+1)/(x-1)(x^2+1) dx$

3. $(x+1)/(x-1)(x^2) dx$

4. $x^2/(x^2+2x+1) dx$

Lösung

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)}{(x-1)(x-2)(x-3)}$$

$$3x-1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

$$3x-1 = Ax^2 - 5Ax + 6A + Bx^2 - 4Bx + 3B + Cx^2 - 3Cx + 2C$$

$$3x-1 = (A+B+C)x^2 + (-5A+4B-3C)x + (6A+3B+2C)$$

Comparing / Equating Coefficients

$$A+B+C = 0 \quad \text{--- (i)}$$

$$-5A+4B-3C = 3 \quad \text{--- (ii)}$$

$$6A+3B+2C = -1 \quad \text{--- (iii)}$$

$$-A+B+C = 0$$

$$A = -B-C \quad \text{--- (iv)}$$

Substituting (iv) in (ii) & (iii)

$$-5(-B-C) + 4B - 3C = 3 \Rightarrow -5(-B-C) + 4B - 3C = 3$$

$$6A + 3B + 2C = -1 \quad C(-B-C) + 3B + 2C = -1$$

$$B + 2C = 3 \quad \text{--- (v) } \times -4$$

$$-3B - 4C = -1 \quad \text{--- (vi) } \times 2$$

$$-6B - 8C = +12$$

$$-2B - 3C = -2$$

$$B = -5$$

Partialbruchzerlegung

Partial Fraction Decomposition

Let $Bx + C = 4$ in equation 1

$$B + 2C = 3$$

$$-B + 2C = 3$$

$$2C = 6 + 3$$

$$C = 4.5$$

$$A + B + C = 0$$

$$A - B + 4 = 0$$

$$A = 1 = 0$$

$$A = 1$$

$$\frac{(3x-1)}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$= \ln(x-1) - 5 \ln(x-2) + 4 \ln(x-3) + C$$

$$\ln(x-1) = -5$$

$$\ln(x-2) = 4$$

$$\ln(x-3) = +C$$

$$\frac{x^2 + x + 1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$\frac{x^2 + x + 1}{(x+2)(x^2+1)} = \frac{A(x^2+1) + (Bx+C)(x+2)}{(x+2)(x^2+1)}$$

$$x^2 + x + 1 = Ax^2 + A + Bx^2 + 2Bx + Cx + 2C$$

$$x^2 + x + 1 = (A+B)x^2 + (2B+C)x + (A+2C)$$

Equating coefficients

$$A + B = 1 \quad \text{--- (i)}$$

$$2B + C = 1 \quad \text{--- (ii)}$$

$$A + 2C = 1 \quad \text{--- (iii)}$$

$$A = 1 - B \quad \text{--- (iv)}$$

Put equation (iv) into (ii)

$$(A, B, C) = \left(\frac{3}{5}, \frac{2}{5}, \frac{1}{5}\right)$$

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$= \frac{3/5}{x+2} + \frac{2x^2+1/5}{x^2+1}$$

$$= \frac{3}{5(x+2)} + \frac{2x+1}{5(x^2+1)}$$

$$= \frac{3}{5} \int \frac{dx}{x+2} + \int \frac{2x+1}{5(x^2+1)} dx$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + 2x$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + \frac{2x+1}{5} + C$$

3. $\frac{x^2+1}{(x-2)(x-2)^2} dx$

$$\frac{x^2+1}{(x-2)(x-2)^2}$$

$$\frac{x^2+1}{(x-2)(x-2)^2} = \frac{A}{x-2} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$x^2+1 = (x-2)^2 A + (x-2) B + C$$

$$x^2+1 = Ax^2 - 4Ax + 4A + Bx - 2B + C + Cx - 2C$$

$$= Ax^2 + Bx^2 - 4Ax - 5Bx + Cx + 4A + 6B - 3C$$

$$x^2 + 1 = (A+B)x^2 + (-4A-5B+C)x + (4A+6B-3C)$$

$$A+B = 1 \quad \text{--- (i)}$$

$$-4A-5B+C = 0 \quad \text{--- (ii)}$$

$$A=1$$

$$4A+6B-3C = 1 \quad \text{--- (iii)}$$

$$A, B, C = (1, -1, 5)$$

Put B in equation (i)

$$A+B = 1$$

$$A+(-1) = 1$$

$$A = 10$$

Put B in equation (ii)

$$-B+C = 4$$

$$-(10-1)+C = 4$$